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Part | : %4 722

% - "> 1 7 WL (Sentence Comprehension)

R ;ﬂF—'ﬁ Bl o i d&g I 7RB§ I At R
(A)6 tikif o (B)S LT mH o (O® a7 o (D)6 fiki o
B R ARG N R L Ce AL BREEE S Co

For Questions number 1 and 2, pleaselook at pictureA. (3 1{= 2 FF WA )
% 138
Question: How much does a cup of coffee cost?
=% 38 : (A)NT$180. (B)NT$150. (C)NT$70. (D)NT$H40. [ %
[# < 2]

Ao R oemeE— 1 5 U R?
£ W :i(A)I80 A~ (B)I50x . (C)70 = o  (D)40 & o
[#4E347] &W ¢ childicens 87 0 & § %5 Co

¥ 2%
Question: What is the most expensive thing on the menu?
=if 7 :(A)Coffee. (B)Fried Chicken.
(C)Steak with Vegetables. (D)Hamburger with French Fries. [&
[ < 32]

R R AR RFadld PR
E Ay B)FRc (OF2FEF - D)FEFE -
[:#32/347) BIY % - "%7 » &¥% 5 Co

For Questions number 3 and 4, please look at pictureB. (R 3£ 3 {4 7 B B <)
¥ 34%
Question: What is true about the woman?

=i 78 ! (A)Sheissinging and dancing. (B)Sheistaking a picture.
(C)Sheisgiving a speech. (D)Sheisjogging. [
[ < it]
B ST B ’faiﬁ;;i?

g 7 (A) BB fopt i o
(B)4= &+ tdp B o
(C)s & gt -
(D) & 2P gs o
(B3] Me grg R A F2F b > D) 26 <F %5 Ao
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¥ 4%
Question: What can we say about this picture?

=i 3 ! (A)Theshow is so boring.
(B)People are sleeping.

(C)The woman is very popular.
(D)The woman is wearing along skirt. [&%:C]
CRE D
B %»'ﬁwéﬁﬁ P AT L R
i (AT R B)« 1 hpf -
(C)* + fax e D)+ +7% F- iF&A+ o
(FFaEfai7] e Era b4 «¥%5Ce
For Questions number 5 and 6, pleaselook at picture C. (456 55 B C )
¥ 54%
Question: Why is the boy standing on a chair?
=iF 7 ! (A)Heistaking exercise. (B)He istrying to get something.
(C)He wants to read a book. (D)He wantsto look very tall. [&% :B])
[ <)
i 5@: BT S ?
iE P(A)B R i o B)EERELT o (O &HE - (D) &k pAkixg -
[Féiﬁ*%‘r] LR TP EN IR £AT > wER 5B
¥ 648

Question: Where is the candy box?
(B)It is on the chair.

=i 78 ! (A)ltisunder the chair.
(O)lt is at the bottom of the shelf. (D)Itis on the top of the shelf. [#% :D]
[# = i)
i 3B £ vtaE?
F B(A)T ERGFTTa e B)v ¥+ + o
(C)v iz kN o (D) v ftfyzE s o
[4gi345] MY 9 F 9 2t 584 > 7 g3 ﬁ# LA R L wERS D
or Questions number 7 and 8, please ook at picture D. (i* 4% 7 §- 8 > 'L~ B D-)
573
Question: Where are these people?
=i 1 :(A)Inthegym. (B)On abaseball field.
(C)On atennis court. (D)On a playground. [%%:A])
[ <)
& 557: R e
e DAL S o (B) kst oo (&2 Mﬁii% (D) e 5+ -
[éﬁ%ﬁ*%‘r] RlY BB EPAEE 2 T E RS A
¥ 83
Question: What are these people doing?
[#% :B]

(B)They are doing exercise.

=:iF 18 ! (A)They are swimming.
(D)They are playing baseball.

(C)They are playing tennis.

CREED
B AT R A iR O A?
E o (A)E i s o (B)# i1 teiai® # o

(D)#s i Adrthad o

(C)is Fogv ek o
SR B 2 Eelgh o ¥R G Bo

Uiagizis] M9 B = ¢ 0 vl kb 1 5%
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For Questions number 9 and 10, pleaselook at picture E. (42 9~ 10> 55 B E <)
¥ 9%
Question: What can we say about the girl and the boy?
=3i% I8 ! (A)They aretaking to each other.
(B)They are eating and drinking.

(C)They are using computers.
(D)They are studying quietly.
CRE D
F %E. DB AT o AT U B A
1 SA)E P AT A e (B) s i fevg ve vhavk o
(O i tie * T - (D) 2 % #13§ § -
(FFagfair] MY Ertafedzrn gt gd &¥%5D-
% 103g

Question: What does the sign say?

=i 78 : (A)People cannot drink and eat.
(B)People cannot eat but can talk on the phones.
(C)People cannat borrow the books.

(D)People cannot sleep.
CRETS
i ’{ isdp A7
iE (A)&'FEZ_"_’«"~%}C%° (B)&:r“ Vv o RV UHTE
@iz (D) i ¥ rip
[agiais] WY 0 462 AR i fhis &d 55 A
¥ = ix i =¥ 35 (Dialogue Comprehension)
¥ 114
4% % W: Thissmells great, Patrick. What are you cooking?
M: Noodles.
W: Great! When can we eat? I’ m hungry.
M: Wait aminute. | still have to make salad.
Question: What is Patrick going to do next?
=iF I (A)Make dessert. (B) Cook noodles.
(C)Drink coffee. (D) Prepare salad.
(¥ * i¥)
Brd N F i A mEE s Bkt Raf A
7 iz o
Lol A | AP REERET e PR o
g E-T o NBREWNHP

il B ET RE R A?
iE B (A)RAE. B)ife - (Cphvwete  (D)FF £ -
[GRAfeir] #5a9 93T 8 -7 c ABR P, % ¥%25 Do
% 124
4% % © W: | am thinking about learning Japanese.
M: Maybe my Japanese friend can teach you.
W: Good idea. How much do | need to pay your friend?
M: No need, if you teach her Chinese.
Question: How much will Japanese |essons cost?

=i 7 :(A)Nothing.  (B)Justalittle.  (C)A lot of money. (D)Some money.
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9 i FRNap AP T UK
*1%'50%*$ﬁibﬁ$ﬁﬁwi?
g Q’«&r%i:f{(%ﬁéo
BF%F%mﬂf?{’ s

A7) #3695 hhfi- P3RM 1132 0 wER5 A

¥ 133

[~

(e

=iE I8

< ]
5PN F

[#3gj%47]
¥ 148

M3

Gy ==

p

s

[:#aEj47]

¥ 153

M3

r %

% + M: What'swrong? You look unhappy today.

W: | bought Jack a birthday gift, but he didn’t likeit.
M: That's too bad.
Question: What does the woman mean?

: (A)Jack is happy. (B)Jack forgot her birthday.
(C)Jack likesthe gift.  (D)Jack does not like the gift. [%% :D])
D9 L ER?R S F];Li?rﬁ';mo
AT ALESLE B E;fﬁ,fﬂ,,e,aziﬁ,\
RS LR
PG g LR
(A)# 5 fm & o (B)#Es. 0 b eh2 p oo
(Q@Q%Ew@ﬁ#° (m%i“h& 4
Higd HFmd T w (B)2 EE > «¥%5D-

% © W: Kevin, I'd like you to meet someone.

M: Sure, who?

W: Her name is Jenny. We were in the same class last year.
M: I'd love to meet her.

Question: What will the woman do next ?

- (A)Invite Kevin to her house. (B)Introduce Kevin to her friend.
(C)Have a party at her house. (D)Meet Kevin at her school. [%% :B])
Lol > ANREFIRAB AL o
R
L e ESR L ERP I

vy

'1\1&}@&}1‘&& o

A 4:}’%-"1%1‘73\14}?"7
DAY Tl e (B) kD A 4 B

(C) s FILE £ - (D) fode 9% e 84
"}’—ﬁt‘ v—&vf}‘]""’”‘-‘? p’bi i EL[[} A 5 ¥ '+F‘F“f‘)§¥|\:& s LL y T — ﬂ}%’gg\ﬂ“i /Tig l} \f’—:‘CLé
7*?:1 B-

- W: Hi, Robert. Do you want to play soccer tomorrow morning?

M: Sorry, | can't. | need to go to the gym.
W: Oh well, maybe another time.
Question: What is Robert going to do tomorrow morning?

. (A)Play soccer. (B)Exercise.

(C)Meet friends. (D)Go shopping. [%% :B]
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¥ 164

17
wmwa“o(awgggqgo

53

[:4Ej347 ]
?ﬂﬁ

E
.m\‘&

N
iSid

r %

3

53

[#3gj247]
¥ 184

M3

Mg

% * M: I’'m thinking about buying a bicycle.

W: Why?

M: I'm tired of taking a bus. Besides, | need to get some exercise.
W: Well, it sounds like a good idea. You really have to lose weight.
Question: What can we say about the man?

: (A)Heisvery tired. (B)He enjoystaking a bus.
(C)Hedoesn’'t enjoy exercise.  (D)He'stoo heavy. [£% :D]
VLD 8 S AL
Lo LR
;V;;\,EL\,A %54\5'°“‘}"\‘$—§lpuf'“ éno
Aol AR EBAFA R o IRE & T o

BTt § 3 0 AT o B A?
Q% 3 B - (D) +£7 -
1;‘:1\:‘«&——)-‘:& ],‘E\;”f’)_@;ﬁﬂﬂwJ 7:’,:(%/";%_; Do

: M: Would you close the door for me?

W: Why? Isit too cold?

M: No, | don’t want the dog to go outside. It's raining and he'll get all wet and dirty.
W: Ok.

Question: Why does the man ask the woman to close the door?

: (A)To keep the room warm. (B)To stop the door from making noise.

(C)To take the dog for awalk. (D) To keep the dog inside the house. [%% :D])
FriRT UFAYME?
R o S A B -
§ 02 A2 BEPIG L AR AT 0 B EHIBER W
% L dFeno
LA 5’ FEREXIMF?
: (A)ﬁ- Fge e Bk magdinkg o OFpL50h - DR s+
S N P T TR T

: W: Would you like to go running after school today?

M: Sorry, | can't.

W: Why? Is your headache bothering you again?
M: Actualy, | caught areally bad cold.
Question: Why can’t the man go running?

: (A)He hasto study. (B)Hislegis hurt.

(C)He is under the weather. (D)He does not like running. [5%:C)
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AR RAEPEEIRY o
B gg: LHEYT I e
iE PA)BREFE T o (B) i o (C)is 2 4PR - (D) 7 E EES o

[Ffé%\ﬁ*ﬁl Hie? 933 2B A5 s £ b 0 (C)F A under theweather .7 7 £7PR ;> 2 42
_'T??r/ﬂ—i/zJ«]“}‘gﬁ r-tgf%.,wC"

[J4%% p % : M: Did you enjoy your vacation?
W: Oh, yes! The city was lovely, but the traffic was really bad.
M: Oh, how terrible!
Question: What are the speakers talking about?

=i I8 :(A)Thewoman'strip. (B)Today's weather.
(C)Their weekend plans. (D)Today’s traffic. [&%:A)
[¢ =+ %]
i pF T REEEOBEYE?
N )

ex AfF | 7R A 8 e Wi B o
§ i F¥ 0|
i 3 WA D AH AR
F B (A)EFarris e (B)F Xhx g oo (O ik kgl e (D)5 % hi o
[35f247) Hie? 3R L3 L2 EEL By > L 3 A BB ~ A bk > 7 L8 P Ak
F BRIy wE R A

43 p % © W: We handed in our reports this morning.

M: You did? | haven't even started on mine.
W: Really? | suggest you hurry up and get to work.
Question: What did the man mean?
=i% 78 : (A)He has started his report. (B)He has not started his report.
(C)He handed in his report yesterday. (D)He has finished his report today. [%%:B])
[ < 32]
R pF A AP IE LT
7 i 2N H 1R G B (R ) -
Lo BB AN R 2k AL P2 fA o
B W9 EPALL?
] (A T B AaE adR 4 o (B)# BB 4t endfp 4 o
CirpFFx 27 s o (D)is £ % %00 6 endp 2
[F3fEdr)] P § 330 TAE 325 Bhemstan o ik S el %&V Mo ERE Bo

- #8012 iz B (Grammatical Structure)

2188 [P >3] ~ e R AR 0 BRB ER B RE o
Ragiatr] &3 2 T3 4 FRIsERY > %E%25B-

$ 2288 [P f3¥) pEAL) BAAT 0 F AT A |

(RAEf#17)] REFaEme ad 2 ¥ wim et Tbe+V-ing,» ¥ %% Co

§ 2338 [¢ v 43¥] B AE b ¥ mphifs * - ’f*f °

[agia7] oL Rsamt i Tas+ Rk 5w S aliw +as, wE% 5 A
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